
 

 

 آورید. ، مشتق توابع زیر را به دست   قانون فوقبا استفاده از   مثال)

 

) ( ) cos sin58
cos sin

x xf x
x x
+

=
−

                      ) ( )59 1 sinf x x= +                           ) ( ) sin60 xf x
x

=  

 

) ( )61 sin 3f x x=                                  ) ( )62 sin cos
2 3 2
x xf x π = − + + 

 
         ) ( )63 .tan

2
xf x x=  

 

) ( )
1 tan

264
1 tan

2

x

f x x

−
=

+
                           ) ( )65 sin .cos 3f x x x=                          ) ( ) ( )366 sin 2f x x=

 
) ( ) 367 sinf t t=                                ) ( ) 268 cos

6 4
xf x π = − 

 
                       

 
) ( ) 2 369 3 sin 2cosf x x x= +  

 

) ( )
2 2

2

sin70
1 cos
x xf x

x
−

=
+

                           ) ( ) ( )271 tan sinf x x=                              

 
) ( ) 272 tan 2cotf x x gx= −  

 

) ( )104 473 cos siny x x= −            ) ( )5 374 tan sin 2y x=             ) 275 sin cosy x x x= −  

 

 ) ( ) ( )2 276 sin cos ; 0y x x= >   ) sin cos77
cos sin

x x xy
x x x
−

=
+

            )78 sin tany x=    

 

)79 sin .tany x x=                ) ( ) ( )2 280 sin cos .cos siny x x=                ) 1 181
cos sinn ny

x x
= +            

 

) ( )
182

cos cos
y

x x
=

−
                ) ( ) 383 cos ; 0f x x x= >       ) ( ) 384 cos sin cos tanf x x=           

 
 

 



 

 

مشتق توابع زیر را در نقاط داده شده به دست آورید. مثال)    
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 را محاسبه کنید . 
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